Keeping the Customer First

ungulo

Tungaloy Report No. 410-E

TOOLLINE Total tooling system @
TUNGCAS

Quick change polygon tool clamping system !




TUNGCAR

TUNGALOY

I Features

@ High rigidity

The TungCap clamping mechanism is extremely rigid and resilient
against bending forces

@ Excellent accuracy

¢ [ he taper and face contact ensure high repeatability of the edge position
¢ The polygonal clamping design creates a self-centring effect to improve
accuracy

I TUNG&GCAP Quick change system

(Interchangeable with PSC standard)

Coolant hole “V” groove for

ATC arm

Magazine and
spindle
positioning
groove

Face & taper
contact

Polygon design
for self centering

Center height
repeatability
+2pum

High
clamping
power

Face & tapar
contact



® High productivity on flexible machine tools

Slant type toolholders for external turning

¢ Avoids interference between work piece and toolholder
with short overhang
e Reduces spindle load and chattering

| Square type | | Slant type

45°

'/S;:rt overhang

Long overhang

TURNING.A External toolholders

Provides long tool life and high stability when cutting
TUNGCLUIT Multi-functional grooving system

Applicable in various grooving operations

Double clamping with
one action

Stocked items of TungCut

SN



TUNGCAP

I Tooling systems

TURNLINE

Toolholders for turning

e Adaptors for square shank toolholders
(Shank size: C4, 5, 6, 8)

Ap e

e Toolholders with PSC shank (Shank size: C5, C6)

TURNINGA PCJINR/L-12 SVJCR/L-16  SVVNCN-16 CER/L-16ER

ACLNR/L-12 ACLNN-12 ADJNR/L-15 ADNNN-15 I F i i '
e Adaptor for boring bars

e Grooving tool (Shank size: C5, 6) (Shank size: C4, 5, 6, 8)

TUNGCUT ‘ ' e

TOOLLINE

Holders for milling & drilling

e TungMax power chuck holders
e ER collet chuck holders (Size: C4, 5, 6, 8) (Size: C5, 6, 8)

s == ol + ==

Side lock holders for endmill
* Sllze C4,5, 6, 8) e Side lock holders for drill (Size: C4, 5, 6, 8)

[ w. + R, [ {. S

® Face mill holders (Size: C4, 5, 6, 8)

G-r‘a 5




I Toolholders
(oY .Y o4 M| ; ¥/ M| External Turning

-

TURNINGA

Right hand (R) shown

Stock |Dimensions (mm) cStd' e Shim S‘,’,’i",',‘g Shim | Clamp |ClaMPING} Spring | Wrench | Coolant
orner
Cat. No. R|L|eD|L1]|L2 f ragius inserts — % (5 EE!-‘ @ﬁ? @
& &
C5ACLNR/L35060-12 |® | @50 60 |32 |35| | ON" | ASC |op_5 5(CSTB-ncpas ACS- | gpor | T15F | Ezea
C6ACLNR/L45065-12 |® |@® |63 |65 |41 45| | 1204~ | 422 ~l 88 SW
Capable for normal pressure coolant
(o3 - {1 X '|: 7/ B External Turning
A
e ) .
Q
< B -
Y
-
‘41_—1»

Right hand (R) shown

Stock | Dimensions (mm) | gq. Shim |Spring pin| Lever C';’g_‘g‘;’l‘g Wrench %%‘;';’Igt
Corner, Appllcable
cat. No. R|L|oD|Lt|L2| f [radius| inserts @ (=
re
C5PCLNR/L35060-12 | @ | @ | 50 | 60 | 32 | 35
0.8 CN*1204** |LSC42|LSP-4 | LCL4 | LCS4 | P-3 |EZ104
C6PCLNR/L45065-12 | @ | @ | 63 | 65 | 41 | 45

m External Turning

k.
L 3

S~

'* !

L1

Capable for normal pressure coolant

TURNINGA

Dimensions (mm) s, Py Shim S’z)’i‘;‘g sscr:g“;, Clamp C';‘c"r‘gwg Spring | Wrench (r:,%°z'za|2t
CornerjApplicable
Cat. No. Stock oD | L1 | L2 f Iradius inserts S — @:@: @
re
C5ACLNNO00090-12 ® [50|90(32| 0
ACLNNO00125-12 ® |50(|125/32| 0 o
CoACLIIN0129 08 | SN | ASC |sp-2.5CSTB-lacpas ASS™ | BP-7 | T15F | EZ83
C6ACLNNO00100-12 ® |63|100137.5 0 1204 :
C6ACLNNO00140-12 ® |63|140137.5 0

Capable for normal pressure coolant

@ : Stocked items



TUNGCAP
(o2Y.\» M| | ; ¥/ M| External Turning

TURNINGA

Right hand (R) shown

Stock [Dimensions (mm)| Std. —— Shim Srg;i?g SS(%}V Clamp C?(gpe;)wg‘ Spring | Wrench (%%glggt
Cat. No. Corner| APPlicable P
R|L|eD|L1|L2]| f inserts . % S @
C5ADJNR/L35060-15 |@® |@®|50|60|32(35 DN**1504** | ASD423(04) CSTB- ACS-
C6ADJNR/L45065-15 |@|® 63|65 41|45 08 | oN15067) scaazon) S 20| 73.5° [ACPAS| Ty | BP-7 | T1SF | E2104

m External Turning

Capable for normal pressure coolant

i TURNINGA
* <+ >
- ***
\ L2
Dimensions (mm) S | Appicable Shim S%';';?g Shim 1" Clamp Clamping | spring | Wrench | oolant
. . Stock . ~
Cat. No oDlL1l Lo | £ ' inserts — % ‘(O I § By @
€ -
C5ADNNN-00090-15 | @ |50({90|32| 0
C5ADNNN-00125-15 | @ |50(125/ 32 | 0 DN**1504** | ASD423(04) CSTB- ACS-
CEADNNN-00100-15| ® 163100575 0 0.8 (DN"1506+) [ASC432(06) SP-2.5 35 ACP4S 5W BP-7 | T15F |EZ104
C6ADNNN-00140-15| @ |63(14037.5/ 0
Capable for normal pressure coolant
[oFL3TA [o4 '] -7/ M External Turning
-
<.
Right hand (R) shown
Stock | Dimensions (mm) - Aoolicab| shim | Shim | Clamping| wrench | wrench | Goolant
Cat. No. R|L oD L1 L2 ¢ COmer insers [ &
" oD =
C5SVJCR/L35060-16 (@ | @ | 50 | 60 | 32 | 35 " - DTS5- | CSTB-
C6SVICR/L45065-16 | @ | @ | 63 |65 | 21 | 25 0.8 VC**1604 SSv32 35 350 T-15F | P-3.5 |EZ104

Capable for normal pressure coolant

@ : Stocked items



L2

Dimensions (mm) Shim | Shim | Clamping| yyrench | wrench | Codlant
Cat. No Stock C%f'g'er Applicable
s oD | L1 |L2| f inserts = WE' @
C5SVVCNO00090-16 [ 5019032 0
C5SVVCNO00125-16 [ 50 (125(32 | O
0.8 | vcr1604+ [ssva2|P1$S-|CSIB-| 115k | p-3.5 |EZ104
C6SVVCNO00100-16 o 63 |{100(37.5] O : :
C6SVVCNO00140-16 [ 63 [140(37.5] O
Capable for normal pressure coolant
(=1 o4 71 ; ¥/ BEN Fxternal threading
‘<L—1> Lz |
Right hand (R) shown
Stock |Dimensions (mm Shim | Shim - \Clamping| Clamp | wrench | Wrench | Goolant
Cat. No C(S)tr(rj]-er Applicable |, Frrry
T R|L|eD|L1|L2| f inserts E@|D@=EFWE@
1 re =
C5CER/L35060-16ER |® |® |50 |60 |32 |35
08 | 1eerL | ALE |PISS-|GSTB|cspie| T-15F | P-3.5 [EZ104
C6CER/L45065-16ER |@® | @ |63 | 65|41 |45 : :

Capable for normal pressure coolant

C-CHFVR/L [elflvile

L. ==
| k
*

TUNGCUT

‘T

Right hand (R) shown

Stock Dimensions (mm) Clamping| wrench | Godlant | Coolant
Cat. No. RILIoD|l1|altsl | B Applicable inserts | Blade D WE' @ 9
C5CHFVR/L35060 ® | ® |50 (495 36|35 DTF, DTE, DTX |CAER/L -
Table Table ) ) CSHB
P-4 [CNZ125/PNZ25
C6CHFVR/L45065 @ | ® 63545 1 |41 (45| 1 DGS, DGM CAFR/L| 6-A
. . Capable for normal pressure coolant
I Combination of blade and toolholder P P
Toolhold Blades
00MOIders I"cAEROOO | CAELOOO | CAFROOO | CAFLOOO
CHFVR*** ° ®
CHFVL*** o °

@ : Stocked items



TUNGCAP

TUNGALOY

(e o< . [ 7/ M Grooving

TUNGCUT

A

p

ts,]

Right hand (R) shown

Dimensions (mm) C'Sac“,‘é’di‘g Wrench %%glza}gt C%%%“t
Cat. No. RlLleD| 1| AlLs| A | B Applicable inserts | Blade - WE' @ g
C5CHSR/L35060 ® | ® |50 | 60 10 36 [24.5[ a6l DGS/SGS, DGM/ |CAER/L| cSHB-
P-4 |CNzZ125 PNz25
C6CHSR/L45065 ® @ 63|65 1 |41|345 1 |SGM,DTX, DTE, DTR|CAFR/L| 6-A
Capable for normal pressure coolant
I Combination of blade and toolholder Table. 1: Offset dimensions for blade
Toolholders Blades Blades A B
CAEROOO | CAELOOO | CAFROOO | CAFLOOO CAER/L-3T16 16 104
CHSR*** o ® For external| CAER/L-4T16 16 10.5
CHSL* L L grooving [ GAER/L-5T20 20 10.5
CAER/L-6T20 20 10.5
For f CAFR/L-3T12-* 12 10.4
or face "
grooving | CAFR/L-4T16- 16 10.5
CAFR/L-5T20-* 20 10.5
CAFR/L-6T20-* 25 10.5

I Insert application

Application

Grooving Parti ff Turning
External Face arting o External Face

Insert

DGM / SGM
DGS / SGS
DTE
DGE
DTX
DTI
DTF ® o
DTR [ [

DTIU o
Undercutting

()
DTA Al wheel

machining

@ : Stocked items



@ Blades (For general purpose)

(7.1 ; // B External grooving and turning

TUNGCUT

]

e

ar
S
S| T
Right hand (R) shown
Insert Stock *Max. Dimensions (mm) Parts
depth
e cat. No. R L groaorv(%"e‘)p L1 f w Inserts Shank Clamping screw|  Wrench
3 |CAER/L-3T16 o O 16 45 104 3 DGS/ SGS
: DGM/SGM  CHFVR/L
4 CAER/L-4T16 e e 16 45 | 105 4 1/ BHMe.20A | Pa
5 CAER/L-5T20 e & 20 49 105 5 DTE CHSR/L
6 CAER/L-6T20 o O 20 49 10.5 6 DTR

(7.l ; 7/ Sl Face grooving and turning

L+

e
@ :

Right hand (R) shown

'223? Cat. No. Sl Mérbgia. Mg)l(jg\ia' Maﬁé%ﬁove RionSIon SN Inserts® | Shank .Parts

size R L (mm) | (mm) armm) L1 | f& | W Clamping screw Wrench
CAFR/L-3T12-040055 © @ 40 55 12 45 104 3 DTF
CAFR/L-3T12-055075 ® @ | 55 75 12 45 104 3

3 CAFR/L-3T12-075100 ® ® 75 100 12 45 104 3 BHM6-20-A P-4
CAFR/L-3T12-100140 ® @ 100 140 | 12 45 104 3
CAFR/L-3T12-140200 ® @ 140 200 | 12 45 104 3
CAFR/L-4T16-050070 | @ ® 50 70 16 | 45 105 4
CAFR/L-4T16-070100 | ® ® 70 @ 100 | 16 @ 45 105 4

* CAFR/L-4T16-100150 ® ® 100 150 16 45 105 | 4 DTE BHME-20-A| P-4
CAFR/L-4T16-150250 ® @ 150 @250 & 16 45 105 4 DTE |CHFVR/L
CAFR/L-5T20-055080 ® @ 55 80 | 20 49 105 5 DTX  CHSR/L
CAFR/L-5T20-080120 ® @ 80 120 | 20 49 | 105 5 DGS

5 CAFR/L-5T20-120180 ® @ 120 180 20 49 105 5 DGM BHM6-20-A P-4
CAFR/L-5T20-180300 ® @ | 180 300 @ 20 49 | 105 5
CAFR/L-5T20-300000 ® @ 300 o 20 49 | 105 5
CAFR/L-6T25-060090 | ® ® 60 90 250 | 55 | 105 6
CAFR/L-6T25-000150 ® | @ | 90 150 | 250 = 55 105 6

6 CAFR/L-6T25-150250 ® ® 150 250 250 @ 55 105 6 BHME-20-A| P-4
CAFR/L-6T25-250400 ® | ® 250 400 250 55 105 6

(1) When depth is deeper than insert length, 1 corner type is recommended.
(2) “f’ value in the above table is calculated with groove width “W” shown in the table.

i Caution
In DTF and DTX insert types, seat size “6” inserts are not

available. When 6 size insert is required, the DTE, DGM or DGS

(8) Min. diameter sDm of DTE, DGS and DGM insert

type is recommended.

D
Inserts (ﬁm::) Note
DTE3/DGS3/DCGM3 044 When diameter is smaller
DTE4/DGS4/DGM 4 o042 than @Dm, DTF or DTX type
DTE5/DGS5/DGM 5| @50 |. .
insert is recommended.
DTE6/DGS6/DGM 6 048

@ : Stocked items




10

TUNGCAP

(o%.Y»] -7/ M Adaptors for square shank toolholders

<N
A
5 |
Y h
= 1
Stock Dimensions (mm)

Cat. No. R| L [eD|f1|L2| f|h1|h |L1 Clamp screw
C4ADE-20R/L 40 (35|54 |25(20|20 |67 SR M10X20DIN912
C5ADE-20R/L ® | ® |50(35|60(20(20 (20|67 SR M10X16
Toolholders may be used after shortening shank length

[o2¥.X, | : 7/ Ml Adaptors for square shank toolholders
Q < L2 ;<L3= oD h1<}'_12>
ha © I
w\¢ {} > © © i
/7 S = a ,ﬁr-ﬂ“‘hr
-L— e e H B
b | -
7_\ /
<L1—>|
Stock Dimensions (mm)

Cat. No. R| L |eD|Li|Le|Ls|f|hi| b |h2|hs|eDi Clamp screw
C5ASHR/L201 ® | ® | 50| 98 (63.5(24.5| 10 | 20 | 20 | 33 | 30 | 90 SR M10x25 DIN915 45H
C6ASHR/L251 ® | ® | 63[120]70 |30 |13 |25 | 25| 32|38 |100

SR M12x30 DIN915 45H
C8ASHR/L32-1 80 [140| 95 | 35| 8 |32 |32 |32 |40 |110

Toolholders may be used after shortening shank length

I C>THl ~daptors for boring bars

10 W
&7 —}C‘}—@ ———}% ?

L1
Dimensions (mm)
Cat. No. Stock oD |od2loD1| L | L1
C4ADI25 40 | 25|60 | 80 | 60
C5ADI20 o 50|20 55|75 |49
C5ADI25 o 50|25 |60 |85 |60

@ : Stocked items



C-ABB Adaptors for boring bars with sleeves

.
‘_]\ ~'iv ‘r
| —1_ ()]
st AEERS
Y
- L
Dimensions (mm) Clamp screw
Cat. No. Stock | 5D |gd2|eD1| L | L1 Used on A-type sleeves Used on B-type sleeves
C5ABB-25-60 ® 50 | 25 | 63 [100| 60
SR M10x20 DIN 915 SR M10x12 DIN 1835-B
C6ABB-25-60 ® 63 | 25 | 63 |100| 60
C6ABB-40-70 ® 63 | 40 | 75 |105]| 71 SR M12x20 DIN 915 SR M12x16 DIN 1835-B
C8ABB25-60 80 | 25 | 63 [100| 60 SR M10x20 DIN 915 SR M10x12 DIN 1835-B
C8ABB40-72 80 |40 | 75 |105| 71 SR M12x20 DIN 915 SR M12x16 DIN 1835-B

I s'ccves for C-ABB adaptors

Fig. A

Fig. B

3

S 5

3 @:@:5%1 Sk :5:%i

VA Y Vi J

L L
Dimensions (mm) Dimensions (mm)
Cat.No. | Stock | b | oo |oD1| L | &1 |Fig. Cat.No. |Stock | 1| ogo|eD1| L | &1 |Fig.

SC25T6A ® |25 6 |31 |5 |Me| A | |scaoTsA ® |40 | 8 |46 |58 |M6| A
SC25T8A ® | 25| 8 |31 |56 |M8| A | [scaoTi0A ® |40 |10 |46 |58 |M8| A
SC25T10A ® |25|10|31 |56 |M8| A | [scaoTi2a ® |40 |12 |46 |58 |M8| A
SC25T12A ® |25|12 |31 |56 |M8| A | [sc4oT16B ® |40 16|46 |58 - | B
SC25T16B ® | 25|16 |31 |56| - | B | |sc4oT20B ® |40 2046|588 - | B
SC25T20B ® |25/20|31|56]| - | B | |scaoT25B ® |40 25|46 |58 - | B
SC40T6A ® |40 | 6 | 46|58 |M6| A | [scaoTazB ® |40 3246|5858 - | B

@ : Stocked items

11



12

TUNGCAP
X" Weldon endmill holders (DIN1835 Form B)

- L >
<Ly
A A
: S5 g 3
j_D al "V
y Y
Dimensions (mm) Dimensions (mm)

Cat. No. Stock oD | oo laDr | L | L4 Cat. No. Stock oD | oo laD1 | L | L4
C4EMO06X50 40| 6 | 25 | 50 | 30 C6EM14X60 63 | 14 | 44 | 60 | 38
C4EMO08X50 40 | 8 | 28 | 50 | 30 C6EM16X65 [ 63 | 16 | 48 | 65 | 43
C4EM10X50 40 | 10 | 35 | 50 | 30 C6EM18X65 [ 63 | 18 | 50 | 65 | 43
C4EM12X55 40 | 12 | 42 | 55 | 35 C6EM20X65 [ 63 | 20 | 52 | 65 | 43
C4EM14X55 40 | 14 | 44 | 55 | 35 C6EM25X80 [ 63 | 25 | 65 | 80 | 58
C4EM16X60 40 | 16 | 48 | 60 | 40 C6EM32X90 [ 63 |32 |72 |90 | 68
C5EMO06X50 50| 6 | 25|50 | 30 C6EM40X100 63 | 40 | 90 [100| 78
C5EMO08X50 50 | 8 | 28 | 50 | 30 C8EMO06X70 80| 6 |25 |70 | 40
C5EM10X55 50 |10 | 35 | 55 | 35 C8EMO08X70 80| 8 | 28|70 | 40
C5EM12X60 () 50 | 12 | 42 | 60 | 40 C8EM10X70 80|10 | 35 | 70 | 40
C5EM14X60 50 | 14 | 44 | 60 | 40 C8EM12X70 80 | 12 | 42 | 70 | 40
C5EM16X60 [ 50 | 16 | 48 | 60 | 40 C8EM14X70 80 | 14 | 44 | 70 | 40
C5EM18X60 [ 50 | 18 | 50 | 60 | 40 C8EM16X70 80 | 16 | 48 | 70 | 40
C5EM20X60 [ 50 | 20 | 52 | 60 | 40 C8EM18X70 80|18 | 50 | 70 | 40
C5EM25X85 [ 50 | 25 | 65 | 85 | 65 C8EM20X70 80|20 | 52 | 70 | 40
C6EM 6X55 63| 6 | 25 | 55| 33 C8EM25X90 80 | 25|65 |90 | 60
C6EM 8X55 63| 8 | 28 | 55 | 33 C8EM32X95 80|32 |72 |95 |65
C6EM10X60 63 |10 | 35 | 60 | 38 C8EM40X110 80 | 40 | 90 [110| 80
C6EM12X60 [ 63 | 12 | 42 | 60 | 38 C8EM50X120 80 | 50 | 98 [120| 90

@ : Stocked items




X N3l Drill holders (DIN1835 Form E whistle notch)

- - 5
L1
ALmax=.
i %—@ﬁg i
L e 3
Y J Y
od,= 25
Dimensions (mm) Dimensions (mm)
Cat. No. Stock oD |oda|eD1| L L L1l Cat. No. Stock oD |oda|oD1| L L L1l
Min. |Max. Min. |Max.
C4EMO06X70E 40| 6 | 25|70 (30|35 |50 |M5| |C6EM14X80E 63|14 |44 |80 |44 |49 |58 [M10
C4EMO08X70E 40| 8 |28 |70 |35 |43 |50 |M6| |C6EM16X85E @ (63|16 |48 |85 |47 |52 |63 |M12
C4EM10X70E 40 | 10| 35|70 |39 |45 |50 |M8| |C6EM18X85E 63|18 |50 | 85|47 | 52 | 63 [M12
C4EM12X75E 40 |12 | 42 | 75 | 44 | 49 | 55 [M10| |C6EM20X85E @® (63|20 |52|85|49 |55 |63 |M16
C4EM14X75E 40 |14 | 44 | 75 | 44 | 49 | 55 [M10| |C6EM25X90E @® (63|25|65|90|54|60|68 |M20
C5EMO06X70E 50| 6 |25 |70 |30|35|50|M5| |C6EM32X95E @ (63(32|72|95|58|63| 73 |M20
C5EMO08X70E 50| 8 |28 | 70|35 |43 |50 |M6| |CBEMO6X65E 80| 6 [25|65|30|36|35|M5
C5EM10X70E 50 (10|35 |70 |39 |45 |50 |M8| |CBEM0O8X65E 80| 8 |28 |65|35|43|35|M6
C5EM12X75E @ (50 (12|42 |75 |44 |49 |55 |M10] |CBEM10X65E 80|10 (35|65 |39 |46 |35 |M8
C5EM14X75E 50 (14 |44 |75 | 44 | 49 | 55 [M10| |CBEM12X70E 80 |12 |42 |70 | 44| 49 | 40 M10
C5EM16X80E @® (50|16 |48 |80 |47 |52 |60 |M12| |CBEM14X70E 80|14 |44 |70 | 44 | 49 | 40 M10
C5EM18X80E 50|18 | 50 | 80 | 47 | 52 | 60 [M12| |C8EM16X75E 80|16 |48 | 75|47 | 52 | 45 [M12
C5EM20X85E ® |50(20|52|85|49 |55 |65|M16| |CBEM18X75E 80|18 |50 |75 |47 | 52 | 45 [M12
C6EM6X75E 63| 6 25|75 |30 |36 |53 |M5| |CBEM20X80E 80|20 |52 |80|49 |57 |50 |M16
C6EMB8X75E 63| 8 28| 75|35 |43 |53 |M6| |C8BEM25X90E 80|25 (65|90 |54 |60 |60 |M20
C6EM10X75E 63|10 (35| 75|39 |46 | 53 | M8| |C8EM32X95E 80|32 (72|95|58 |64 |65 |M20
C6EM12X80E @ (63 (12|42 |80 |44 |49 |58 M10

@ : Stocked items

13



14

TUNGCAP

===l cR collet holders (DIN6499)

»|

oD

|t
-

[

Csl

Wrench is not included

=X Mini ER collet chuck holders (DIN 6499)

A

J Csl
1 -
%, @ I,___I_J__JI_ "D_%v
! | L1
- L >
Dimensions (mm)
Range
S L Stock oD | cSl | eD1 | L L1 J
Min. | Max.

C4ER16X70M 0.5 10 40 ER16 22 70 50 M10
C5ER16X100M (] 0.5 10 50 ER16 22 100 80 M10
C5ER16X130M (] 0.5 10 50 ER16 22 130 120 M10
C6ER16X100M (] 0.5 10 63 ER16 22 100 78 M10
C6ER16X130M (] 0.5 10 63 ER16 22 130 108 M10
C6ER16X160M (] 0.5 10 63 ER16 22 160 138 M10

Wrench is not included

Dimensions (mm) Dimensions (mm)
Range Range
Cat. No. [Stock oD| cslleD1| L | L1 J Cat. No. [Stock oD| Csl loD1| L | L1 J
Min. Max. Min. Max.

C4ER16X70 1 |10 |40|ER16| 28 |70|50| M10 C6ER20X130| @ | 1 | 13 | 63 |ER20| 34 (130108 M12
C4ER20X35 1 | 13 |40 |ER20| 34 |35 |27 - C6ER20X160| @ | 1 | 13 | 63 [ER20| 34 |160(138] M12
C4ER20X52 1 |13 |40 |ER20| 34 |52 |32 - C6ER25X060 | @ | 1 | 16 | 63 [ER25| 42 |60 | 38 -
C4ER25X38 1 |16 |40 |[ER25| 42 |38 |30 - C6ER25X100| @ | 1 | 16 | 63 [ER25| 42 {100/ 78| M16
C4ER25X52 1 | 16 |40 [ER25| 42 |52 | 32 - C6ER25X130| @ | 1 | 16 | 63 [ER25| 42 {130/108] M16
C4ER32X54 2 |20 |40 [ER32| 50 |54 | 34 - C6ER25X160| @ | 1 | 16 | 63 [ER25| 42 (160{138| M16
C5ER16X100| @ | 1 |10 |50 [ER16| 28 {100/ 80| M10 C6ER32X060| @ | 2 | 20 |63 |[ER32| 50 |60 | 36 -
C5ER16X130| @ | 1 |10 |50 [ER16| 28 |130{120] M10 C6ER32X100| @ | 2 | 20 | 63 |[ER32| 50 |100| 78 |M22X1.5
C5ER20X055| @ | 1 |13 |50 [ER20| 34 |55 |35 - C6ER32X130| @ | 2 | 20 | 63 [ER32| 50 {130|108[M22X1.5
C5ER20X100| @ | 1 |13 |50 [ER20| 34 |{100/80| M12 C6ER32X160| @ | 2 | 20 | 63 [ER32| 50 {160|138[M22X1.5
C5ER20X130| @ | 1 | 13 |50 [ER20| 34 |130({120] M12 C6ER40X065 3 | 26 |63 ER40| 63 | 65 | 37 -
C5ER25X055| @ | 1 | 16 | 50 |ER25| 42 |55 |35 - C6ER40X100 3 | 26 | 63 [ER40| 63 |100| 78 [M28X1.5
C5ER25X100| @ | 1 | 16 | 50 ER25| 42 [100/80| M16 C6ER40X130 3 | 26 | 63 [ER40| 63 |130({108[M28X1.5
C5 ER32X057| @ | 2 | 20 | 50 |ER32| 50 |57 | 36 - C8ER32X70 2 |20 |80 [ER32| 50 | 70 |40 -
C5ER32X100| @ | 2 | 20 | 50 ER32| 50 [100| 80 [M22X1.5| |C8ER32X100 2 | 20 | 80 [ER32| 50 |100| 70 (M22x1.5
C6ER16X100| @ | 1 | 10 |63 ER16| 28 {100/ 78| M10 C8ER32X160 2 | 20 | 80 [ER32| 50 |160|130(M22x1.5
C6ER16X130| @ | 1 | 10 | 63 ER16| 28 {130(108] M10 C8ER40X70 3 | 26 |80 [ER40| 63 | 70 | 40 -
C6ER16X160| @ | 1 |10 | 63 [ER16| 28 |160(138] M10 C8ER40X100 3 | 26 | 80 [ER40| 63 |100| 70 (M28x1.5
C6ER20X060 | @ | 1 | 13 |63 [ER20| 34 |60 | 38 - C8ER40X160 3 | 26 | 80 ER40| 63 [160({130|M28x1.5
C6ER20X100| @ | 1 |13 |63 [ER20| 34 |100| 78 | M12 [ Collet. NSRRI Wrench & RE

[_ER Collet | ISRl

" Wrench |
Preset Scrow il

@ : Stocked items



TSl shell mill holders with coolant hole

L Lo

»
|

oD
== __&
i_ Irll
o

d
oDr

Dimensions (mm) Dimensions (mm)

G e, Stock oD| od |eD1| L | L2 | L1 o e e oD| ed |eD1| L | L2 | L1
C4SEM16X32C 40| 16 | 38 | 32 | 12 | 17 C6SEM25.4X37C %* | 6325450 | 37 | 22 | -
C4SEM16X55C 40| 16 | 38 | 55 | 35 | 17 C6SEM27X60C ® 63| 27 | 58 | 60 | 21 | 38
C4SEM22X40C 40| 22 | 47 | 40 | 20 | 19 C6SEM27X100C 63| 27 | 58 |100| 21 | 78
C4SEM22X55C 40| 22 | 47 | 55 | 35 | 19 C6SEMS31.75X60C | % | 63 |31.75/ 64 | 60 | 30 | -
C5SEM16X35C ® 50| 16 | 38 | 35| 17 | 15 C6SEM32X60 C 63| 32 | 66 | 60 | 24 | 38
C5SEM16X70C 50| 16 | 38 | 70 | 17 | 50 C6SEM38.1X60C % | 63(38.1|80 |60 |34 | -
C5SEM22X35C ® 50| 22 | 47 | 35 | 19 | 15 C6SEM40X60 C 63| 40 | 82 | 60 | 27 | 38
C5SEM25.4X37C % | 63254 |50 |37 |22 | - C8SEM16X50C 80| 16 | 38 | 50 | 20 | 17
C5SEM22X70C 50| 22 | 47 | 70 | 19 | 50 C8SEM16X100C 80| 16 | 38 |100| 70 | 17
C5SEM27X40C 50| 27 | 58 | 40 | 21 | 20 C8SEM22X50C 80| 22 | 47 | 50 | 20 | 19
C5SEM31.75X60C | % | 63 |31.75| 64 | 60 | 30 | - C8SEM22X100C 80| 22 | 47 |100| 70 | 19
C5SEM32X40C 50| 32 | 63 | 40 | 24 | 20 C8SEM27X50 80| 27 | 58 | 50 | 20 | 21
C6SEM16X50C ® 63| 16 | 38 | 50 | 17 | 28 C8SEM27X100C 80| 27 | 58 |100| 70 | 21
C6SEM16X100C 63| 16 | 38 |100| 17 | 78 C8SEM32X50C 80| 32 | 66 | 50 | 20 | 24
C6SEM22X50C ® 63| 22 | 47 | 50 | 19 | 28 C8SEM32X100C 80| 32 | 66 |100| 70 | 24
C6SEM22X100C 63| 22 | 47 |100| 19 | 78 C8SEM40X60 C 80| 40 | 82 | 60 | 30 | 27
Wrench is not included [ Wrench |13 X1,
m Power chuck holders

N Lmax.
%‘ A< Lmin. ;
} 25 NSNS \
3| HI- Hfij - m{%—
J Q
Y (”) ]Q Y
A L1 .
- L —
Dimensions (mm)
Cat. No. Stock| o | 29 | 5p | D1 |@D2 | L | L L J
Min. Min. | Max.
C5TUNGMAX20X100 ® | 50| 6 | 20 | 51 | 53 |100| 75 | 55 | 67 |M16
C6TUNGMAX20X95 ® | 63| 6 |20 |51 | 53|95 | 73|55 |67 |[M16
C6TUNGMAX32X115 ® | 63| 6 |32 |69 |70 |115| 93 | 70 | 82 |M16
C8TUNGMAX20X95 80| 6 |20 |51 |53 |95 | 65| 55| 67 |[M16
C8TUNGMAX32X115 80| 6 |32 |69 |70 |115| 85 | 70 | 82 |[M16

Wrench is not included

™ Wrench |
Preset Scrow Lacdi

@ : Stocked items
% : Available in 2012



16

TUNGCAP

JER Collet

ER11 SPR

0.5-1

AA

ER11 |11 0.5-1 0.5-1 -
ER16 116 SPR (Standard type 12 12 Ultra precision
ER20 120 SEAL [Sealed type : : JET2 |External coolant
ER25 |25
ER32 |32
ER40 |40
ERCIOSPROI-CIAA ERCICJISPROI-]
Range Class AA Range Class standard
(mm) ER11 ER16 | ER20 | ER25 | ER32 ER40 (mm) ER11 ER16 | ER20 | ER25 | ER32 | ER40
0.5-1 [ ] ) 0.5-1
1-2 [ ] [ ] [ ) [ ) 1-2
2-3 [ [ ] [ [ ] [ 2-3
3-4 [ [ ] [ J [ ] [ J 3-4
4-5 [ ) [ ] [ J ([ [ 4-5
5-6 [ ] [ ) [ J () [ ) 5-6
6-7 [ ] ) [ ) [ ) [ J 6-7
7-8 [ ) [ ) [ ) [ ) 7-8
8-9 [ ] [ [ ] [ 8-9
9-10 [ ] [ J [ ] [ J 9-10
10-11 ® [ ® 10-11
11-12 ® ) [ 11-12
12-13 [ J () [ ) 12-13
13-14 o [ ) 13-14
14-15 ® ® 14-15
15-16 [ ] [ 15-16
16-17 ® 16-17
17-18 ® 17-18
18-19 [ J 18-19
19-20 . [ 19-20
20-21 210 00 20-21 o 'YWy
21-22 e —— - 21-22 = e
22-23 22-23
23-24 | 23-24
24-25 ULTRA PRECISION AA 24-25
25-26 , ] : 25-26 , , ,
ERLCICISEALLI-[] ERLCICISEALL-[JET2
Range Seal for internal oil hole Range Seal JET2 for external oil hole
(mm) ER16 ER20 ER25 ER32 ER40 (mm) ER16 ER20 ER25 ER32 ER40
0.5-1 0.5-1
1-2 1-2
2-3 2-3
3-4 [ ] [ ] [ ) [ ) 3-4 [ [ ) [ ) [ J
4-5 [ ] [ ] [ ) [ ) 4-5 [ [ ) [ ) [ )
5-6 [ [ ] [ [ ] 5-6 [ ] [ [ ] [ ]
6-7 [ [ [ [ ] 6-7 [ [ [ [ ]
7-8 [ ) [ ) [ [ 7-8 [ ) [ J [ [
8-9 [ ) [ ) [ ] [ 8-9 [ ) [ [ [
9-10 [ ] [ ] [ ) [ ) 9-10 [ ] [ ) [ ) [ )
10-11 [ ] [ ) [ ) 10-11 [ ) [ ) [ )
11-12 [ ] [ [ ] 11-12 [ [ ] [ ]
12-13 [ [ [ ] 12-13 [ [ ]
13-14 [ J [ 13-14 [ [ ]
14-15 [ [ 14-15 [ ] [
15-16 [ J [ ) 15-16 [ )
16-17 [ ) 16-17 [ )
17-18 [ ] 17-18 [ ]
18-19 [ ] 18-19 [ ]
19-20 () 19-20
20-21 20-21 ’
21-22 21-22
22-23 22-23
23-24 23-24
24-25 24-25
25-26 25-26
: Not available

@ : Stocked items



I Wrench for ER Collet Chuck

WRENCH-ER / ER DIN 6499

Dimensions (mm)
Cat. No. Stock A H L
Tf WRENCHER11MINI o 16.8 - 95
L o) WRENCHER11 o 32 17 95
| ) ‘ WRENCHER16MINI [ ) 22.5 - 117
‘ Wrench ER 25, 32, 40, 50 ‘ WRENCHER16 o 42.8 25 143
WRENCHER20MINI @ 28 - 128
I_h WRENCHER20 @ 53.5 30 172
& WRENCHER25MINI o 29 - 120
] ] ‘ WRENCHER25 ° 70 - 207
Wrench ER 11, 16, 20, 25 Mini WRENCHER32 P 78 i 255
Tf WRENCHER40 95 - 285
A N WRENCHERS50 110 - 350
J’—F ‘ WRENCHER20SHORTRING22 [ ) 48 22 260
‘ L | WRENCHER32SHORT [ ) 75 36 303
Wrench ER 11,16, 20, TungShort WRENCHER40SHORT 94 46 378
I Preset screws for ER Collet Chuck
PRESET ER-JET
Fig 1 Fig 2 Cat. No. Stock J Fig
PRESETER-JET8X1 M8X1.0 2
PRESETER-JET8X1.25 M8X1.25 2
PRESETER-JET10X1.5 o M10X1.5 2
PRESETER-JET12X1 M12X1.0 2
PRESETER-JET12X1.75L o M12X1.75 1
PRESETER-JET12X1.75 o M12X1.75 2
PRESETER-JET14X1 @ M14X1.0 2
PRESETER-JET16X2 @ M16X2 2
PRESETER-JET16X2L o M16X2 1
PRESETER-JET18X1 M18X1.0 2
PRESETER-JET18X1.5 o M18X1.5 2
PRESETER-JET18X1.5L o M18X1.5 1
PRESETER-JET22X1.5 o M22X1.5 2
PRESETER-JET22X1.5L @ M22X1.5 1
PRESETER-JET28X1.5 M28X1.5 2
I Wrench for Shell Mill Holder
WRENCH SEMC / DIN 6368 (Option)
Dimensions (mm)
Cat. No. Stock J?Eﬁ{tgira&%tﬁ Screw size H L
S WRENCHMS8SEMC16 [ 16 M8 20 180
'j .ﬂ WRENCHM10SEMC22 o 22 M10 25 200
[ ‘ WRENCHM12SEMC27 o 27 M12 32 225
‘ L ‘ WRENCHM16SEMC32 o 32 M16 36 250
WRENCHM20SEMC40 o 40 M20 40 280
WRENCHM24SEMC50 o 50 M24 50 315

@ : Stocked items

17



18

TUNGCAP

| TUNEMAX  Collet for Power Chuck

O SC-SEAL © scC-SPR
[
G - @2 zl
| |
! L
58-60 HRC §| 58-60 HRC *I
. ETE
) @
@ SC-SEAL SC Sealed Straight Collet - Metric
Dimensions (mm)

Cat. No. Stock od oD L » G
SC20SEAL6 [ 6 20 60 28 M16
SC20SEALS8 [ 8 20 60 28 M16
SC20SEAL10 [ ) 10 20 60 35 M16
SC20SEAL12 [ ) 12 20 60 40 M16
SC20SEAL14 [ ) 14 20 60 40 M16
SC20SEAL15 [ 15 20 60 40 M16
SC20SEAL16 [ 16 20 60 39 M16
SC32SEAL6 [ ) 6 32 72 28 M24x1.5
SC32SEALS8 [ ) 8 32 72 28 M24x1.5
SC32SEAL10 [ ) 10 32 72 35 M24x1.5
SC32SEAL12 [ 12 32 72 40 M24x1.5
SC32SEAL14 [ 14 32 72 40 M24x1.5
SC32SEAL15 [ ) 15 32 72 40 M24x1.5
SC32SEAL16 [ ) 16 32 72 44 M24x1.5
SC32SEAL18 [ ) 18 32 72 44 M24x1.5
SC32SEAL19 [ 19 32 72 44 M24x1.5
SC32SEAL20 [ 20 32 72 46 M24x1.5
SC32SEAL24 [ ) 24 32 72 46 M24x1.5
SC32SEAL25 [ ) 25 32 72 51 M24x1.5
© SC-SPR SC Straight Collet - Metric

Dimensions (mm

Cat. No. Stock od oD L Ly G
SC20SPR6 6 20 60 28 M16
SC20SPR8 8 20 60 28 M16
SC20SPR10 10 20 60 35 M16
SC20SPR12 12 20 60 40 M16
SC20SPR14 14 20 60 40 M16
SC20SPR15 15 20 60 40 M16
SC20SPR16 16 20 60 39 M16
SC32SPR6 6 32 72 28 M24x1.5
SC32SPR8 8 32 72 28 M24x1.5
SC32SPR10 10 32 72 35 M24x1.5
SC32SPR12 12 32 72 40 M24x1.5
SC32SPR14 14 32 72 40 M24x1.5
SC32SPR15 15 32 72 40 M24x1.5
SC32SPR16 16 32 72 44 M24x1.5
SC32SPR18 18 32 72 44 M24x1.5
SC32SPR19 19 32 72 44 M24x1.5
SC32SPR20 20 32 72 46 M24x1.5
SC32SPR24 84 32 72 45 M24x1.5
SC32SPR25 25 32 72 51 M24x1.5

@ : Stocked items




I TUNGMAX  Preset screw for Power Chuck

SC-SPR

Fig 1

PRESET SC CAP Preset screw for SC Collets (Power Chuck)

Cat. No. Stock Binensionslinm) Fig Collet  |\wrench| Collet size
L w J G Range
PRESETSCCAP8x1.25L [ ) 28 16 M8x25 M16 1 6-8 4 SC20
PRESETSCCAP8x1.25 [ ) 15 16 M8x25 M16 2 10-16 4
PRESETSCCAP10x1.5L [ ) 30.0 27 M10x30 | M24x1.5 1 6-14 5 SC20
PRESETSCCAP10x1.5 [ ) 13.5 27 M10x30 | M24x1.5 2 16-25 5
] TUNEMAX  Wrench
L
‘ 225
2.5
L
/ S = p—
/o f [
dg\ & 62
oo S

— -

Wrench for TungMax Collets

- - SC Collet extracting hook
Cat. No. Stock E:;nensmns (mr:) for TungMax
WRENCHTUNGMAX20HOOK @ 26 205 Cat. No. Stock
WRENCHTUNGMAX32HOOK ) 68 240 EXTRACTORSCCOLLETS ()
| TUNGMAX Preset screws
Dimensions (mm)
Cat. No.
at. No Stock G L oD K
PRESETTUNGMAX16X30 () M16 30 8 8
PRESETTUNGMAX16X44 () M16 44 8 8
PRESETTUNGMAX20X55 () M20 55 12 12

@ : Stocked items




Tungaloy Rus, LLC

36-G Kostukova str.

308012 Belgorod, Russia

Phone:+7 4722 58 57 57 Fax:+7 4722 58 57 83
www.tungaloy.co.jp/ru

Tungaloy

Member IMC Group

Tungaloy Polska Sp. z 0.0.

Tungaloy Corporation (Head office) Ul Genewska 24

11-1 Yoshima- Ko%yodanchl 03-963 Warszawa, Poland
Iwaki-city, Fukushima, 970-1144 Japan Phone: +48-22-617-0890 Fax: +48-22-617-0890
Phone: +81-246-36-8501 Fax: +81-246-36-8542 www.tungaloy.co.jp/pl

www.tungaloy.co.jp

lov America. | Tungaloy U.K. Ltd
Tungaloy me".ca' “F- ) Hilton Hall Business Centre, Essington
3726 N Ventura Drive, Arlington Heights, IL 60004, U.S.A. Staffordshire, WV11 2BQ, UK

Phone: +1-888-554-8394 Fax: +1-888-554-8392 Phone:+44 121 309 0163 Fax: +44 121 270 9694
www.tungaloyamerica.com www.tungaloy.co.jp/uk salesinfo@tungaloyuk.co.uk
Tungaloy Canada Tungaloy Hungary Kft
432 Elgin St. Unit 3, Brantford, Ontario N3S 7P7, Canada Erzsébet kirdlyné utja 125
Phone: +1-519-758-5779 Fax: +1-519-758-5791 H-1142 Budapest, Hungar
www.tungaloyamerica.com Phone: +36 1 781-6846 Fax: +36 1 781-6866

www.tungaloy.co.jp/hu info@tungaloytools.hu

Tungaloy de Mexico S.A.

C Los Arellano 113, Parque Industrial Siglo XXI Tungaloy Turkey

Aguascalientes, AGS, Mexico 20290 Dudullu Organize Sanayi Bolgesi DES
Phone:+52-449-929-5410 Fax:+52-449-929-5411 Sanayi Sitesi 1 Cadde Ticaret, Merkezi No. 3/7
www.tungaloyamerica.com 34779 Umraniye Istanbul, Turkey

. o Phone: +90 216 540 04 67 Fax: +90 216 540 04 87
Tungaloy do Brasil Comércio de Ferramentas de ~ www.tungaloy.co.jp/tr info@tungaloy.com.tr

gorfje Ltsd?).' N104 Tungaloy Cutting Tool (Shanghai) Co.,Ltd.
ua dos sablas IN. P
ﬂjizso-ogg \1”9”2%%%2875'507 F;aU|O'5Bsra12§| 38262757 ggy@%giogogifg ch?r?ae » Jangcheng Ho.3 e
one:+ -19- ax:+ -19- !

; Phone: +86-21-3632-1880 Fax: +86-21-3621-1918
www.tungaloy.co.jp/br www.tungaloy.co.jp/tcts
I"“galA‘TV G;rmalmyq GmbH Tungaloy Cutting Tool (Thailand) Co.,Ltd.
D”4%%r89t,\e,|%nﬁ%?ﬁqeberman 11th Floor, Sorachai Bldg, 23/7, Sol Sukhumvit 63
Phone: +49-2173-50420-0 Fax: +49-2173-90420-19 ongtonnue, VVattana, Bangko . I hailan
www fungaloy.de Phone: +66-2-714-3130 Fax: +66-2-714-3134

www.tungaloy.co.th

Tungaloy France S.A.S.

ZA Courtaboeuf - Le Rio, 1 rue de la Terre de feu

Tungaloy Singapore (Pte.), Ltd.

F-91952 Courtaboeuf Cedex, France 31 Kaki Bukit Road 3, #05-19 TechLink
- - N - - K Singapore 417818
o oyepy 2074300 Fax: +33-1-6907-7817 Phone:+65-6391-1833 Fax:+65-6299-4557
' ' www.tungaloy.co.jp/tspl
Tungaloy ltalia S.r. Tungaloy India Pvt. Ltd.
|_|2€:1O1.26r’1v”c|)ar?éoltaly _LrJng#1V3;/ Blaxwlr_wg 8thPFIo<|)r(v|\</am)aIa,vll\/l|IIstor;r11888n1d3 ndi
. _09- _ . _09- _ raae or ower rare est umapal nala
E’thscviu;gilg’y?iff’zmz 1 Fax: +39-02-252012-65 Phone: +91-22-6124-8804 Fax: +91-22-6124-8899

www.tungaloy.co.jp/in

Tungaloy Czech s.r.o Tungaloy Korea Co., Ltd

Turanka 115 #1312, Byucksan Digital Valley 5-cha
CZ-627 00 Brno, Czech Republic Beotkkot-ro 244, Geumncheon-gu

Phone: +420-532 123 391 Fax +420-532 123 392 153-788 Seoul, Korea
www.tungaloy.cz Phone:+82- |2 2621_ 6/?(61 Fax:+82-2-6393-8952
, . www.tungaloy.co.jp/krr
Tungaloy Ibérica S.L. )
C{Miguel Servet, 438, Nau 7. Pol. Ind. Bufaivent Tungaloy Malaysia Sdn Bhd
ES-08243 Manresa (BCN) pai 50 K-2, Kelana Mall, Jalan SS6/14, Kelana Jaya, 47301
Phone:+34 93 113 1360 Fax: +34 93 876 2798 Petaling Jaya, Selangor Darul Ehsan, Malaysia
www.tungaloy.es Phone:+603-7805-3222 Fax:+603-7804-8563

www.tungaloy.co.jp/my

Tungaloy Scandinavia AB

S:t Lars Vg 42A Tungaloy Australia Pty Ltd

SE-22270 Lund, Sweden Unit 308/33 Lexington Drive
Phone:+46-462119200 Fax:+46-462119207 Bella Vista NSW 2153, Australia
www.tungaloy.se Phone:+612-9672-6844 Fax:+612-9672-6866

www.tungaloy.co.jp/au

Distributed by: o 1
& | 7 isc ()
. 000] I-ﬂ]ﬂl ¢
UKAS JACS KA
wadns v . iy
ISO 9001 certified ISO 14001 certified
QC00J0056 EC97J1123
Tungaloy Corporation  Tungaloy Group
Japgn :?te antd Asian
roauction site
06989312 18/10/1996 56/11/1997

| Produced from Recycled paper | Qct. 2012 (TJ)




